il'ar‘rdp Series: [ 1. 6. 15. 20. 13.], erreur Mk 0 = 486.4116180251'I'0e(n)1p Series: [ 1. 6. 15. 20. 18.], erreur Mk 1 = 486.76988866
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Temp Series : [ 1. 6. 15. 20. 16.], erreur Mk 2 = 492.860817392 Temp Series : [ 1. 6. 15. 20. 19.], erreur Mk 3 = 511.054850583
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Temp Series : [ 1. 6. 15. 20. 5.], erreur Mk 4 = 550.066103376_Temp Series: [ 1. 6. 15. 20. 17.], erreur Mk 5 = 556.464068285
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Temp Series: [ 1. 6. 15. 20. 2.], erreur Mk 6 = 562.729251944_Temp Series : [ 1. 6. 15. 20. 8.], erreur Mk 7 = 562.958621269
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